

PLANET BOWL 29TH TRIOS LEAGUE

TEAM STANDINGS

WEEK : 06/34

DATE : 24-Feb-26

POS	TEAM NAME	B/f		CURR POINTS		TOTAL POINTS		TTL PFS		
		Won	Lost	Won	Lost	Won	Lost	B/f	Curr	Total
1	X-Kakis (Tm #01)	72.5	27.5	15.0	5.0	87.5	32.5	11739	2374	14113
2	Moulmein Big (Tm #08)	73.0	27.0	8.5	11.5	81.5	38.5	11474	2253	13727
3	Viaggio (Tm #07)	67.0	33.0	10.5	9.5	77.5	42.5	11488	2242	13730
4	eBowlers United (Tm #13)	59.5	40.5	18.0	2.0	77.5	42.5	11181	2424	13605
5	Simple (Tm #06)	56.0	44.0	16.0	4.0	72.0	48.0	11372	2421	13793
6	Revolution (Tm #14)	57.0	43.0	14.0	6.0	71.0	49.0	11788	2396	14184
7	F O S (Tm #10)	53.5	46.5	15.0	5.0	68.5	51.5	11387	2330	13717
8	Pins Points (Tm #11)	50.0	50.0	18.0	2.0	68.0	52.0	11568	2270	13838
9	Alliance (Tm #17)	61.0	39.0	5.0	15.0	66.0	54.0	11630	2300	13930
10	ACC (Tm #15)	45.5	54.5	11.5	8.5	57.0	63.0	11217	2296	13513
11	Boneless Kitchen (Tm #05)	46.0	54.0	10.0	10.0	56.0	64.0	11413	2258	13671
12	XPinX (Tm #03)	45.5	54.5	9.5	10.5	55.0	65.0	10823	2159	12982
13	8 + 1 (Tm #18)	44.5	55.5	5.0	15.0	49.5	70.5	11213	2256	13469
14	Xpresso (Tm #09)	34.0	66.0	10.0	10.0	44.0	76.0	10405	2363	12768
15	Kakilang (Tm #04)	35.5	64.5	6.0	14.0	41.5	78.5	10256	2304	12560
16	Smokey Wizard (Tm #02)	38.0	62.0	2.0	18.0	40.0	80.0	10454	1980	12434
17	Pinfinity (Tm #12)	33.5	66.5	2.0	18.0	35.5	84.5	10681	2176	12857
18	SteadFast (Tm #16)	28.0	72.0	4.0	16.0	32.0	88.0	10405	2114	12519

INDIVIDUAL SPECIAL ACHIEVEMENTS

High Scratch Game – Men (Min 20 Games)		High Scratch Series – Men (Min 20 Games)	
Eugene Sim (Pins Points)	269	Thomas Lee (Alliance)	802
High Handicap Game – Men (Min 20 Games)		High Handicap Series – Men (Min 20 Games)	
Kwek Yao Chie (XPInX)	211		
High Scratch Game – Ladies (Min 20 Games)		High Scratch Series – Ladies (Min 20 Games)	
High Handicap Game – Ladies (Min 20 Games)		High Handicap Series – Ladies (Min 20 Games)	
High Average - Men (Min 20 Games)		High Average - Ladies (Min 20 Game)	

Except high average award, each bowler is only eligible for one individual special award.

TEAM SPECIAL ACHIEVEMENTS

High Scratch Game – Team		High Scratch Series – Team	
Revoution (Week 05)	727	X-Kakis (Week 05)	2494
eBowlers United (Week 06)	665	Boneless Kitchen (Week 05)	2418
F O S (Week 03)	634	Moulmein Big (Week 05)	2334
High Handicap Game – Team		High Handicap Series – Team	
Alliance (Week 01)	696	Pins Points (Week 05)	2451
ACC (Week 01)	676	Simple (Week 02)	2436
Kakilang (Week 05)	663	Viaggio (Week 03)	2393

Each team is only eligible for one team special award.

PLANET BOWL 29TH TRIOS LEAGUE - Bowler Records

After Week #6

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
X-Kakis (Tm #01)									
1	Alvin Chia	M	-	1,581	8	197	-	1,581	197
2	Nicholas Lum	M	-	1,673	8	209	-	1,673	209
3	Nigel Lum	M	-	1,577	8	197	-	1,577	197
4	Tommy Tan	M	7	705	4	176	-	705	176
5	Kollin Seah	M	-	796	4	199	-	796	199
6	Danny Yeo	M	-	1,696	8	212	-	1,696	212
7	Prakash C	M	8	1,381	8	172	5	1,386	173
8	Mervin Tay	M	-	769	4	192	-	769	192
9	Mike Koh	M	18	603	4	150	12	615	153
10	Joey Low	M	4	729	4	182	-	729	182
11	Tan Wei Ming	M	-	792	4	198	-	792	198
12	Rodney Ser	M	-	855	4	213	-	855	213
13	Alvin Teo	M	-	768	4	192	-	768	192
14			-	-	-	-	-	-	-
15			-	-	-	-	-	-	-
Smokey Wizard (Tm #02)									
16	Steve Ng	M	17	1,241	8	155	-	1,241	155
17	Jason Png	M	5	1,427	8	178	14	1,441	180
18	Steven Tein	M	19	1,212	8	151	6	1,218	152
19	Jeffrey Teng	M	17	602	4	150	18	620	155
20	Teo Qwee En	F	12	685	4	171	-	685	171
21	Maple Teo	F	32	521	4	130	47	568	142
22	Eddie Chua	M	10	669	4	167	7	676	169
23	Anthony Li	M	10	1,357	8	169	-	1,357	169
24	Cyrus David Kua	M	-	-	-	-	-	-	-
25	Reyhem M Razali	M	4	1,463	8	182	-	1,463	182
26	Irvin Wong	M	4	716	4	179	12	728	182
27	Jim Huang	M	9	691	4	172	-	691	172
28	Goh Jun Jie	M	25	502	4	125	58	560	140
29			-	-	-	-	-	-	-
30			-	-	-	-	-	-	-
XPinX (Tm #03)									
31	Kwek Yao Chie	M	7	3,509	20	175	6	3,515	175
32	Elton Chin	M	8	698	4	174	-	698	174
33	Jeffrey Tan Jie Hui	M	16	603	4	150	31	634	158
34	Jake Wang	M	7	1,404	8	175	-	1,404	175
35	Edward Tan	M	-	2,293	12	191	-	2,293	191
36	Low Nget Fong Janet	F	-	-	-	-	-	-	-
37	Ignatius Lee	M	-	-	-	-	-	-	-
38	Brandon Lye	M	14	647	4	161	-	647	161
39	Justin Poon JunJie	M	-	-	-	-	-	-	-
40	Eddy Low	M	-	-	-	-	-	-	-
41	Dorothy Pang Hoke Guan	F	-	-	-	-	-	-	-
42	Leong Ai-Wen Victoria	F	6	1,445	8	180	-	1,445	180
43	Thaddeus Lin	M	13	1,284	8	160	29	1,313	164
44	Nicholas Khoo	M	9	687	4	171	-	687	171
45			-	-	-	-	-	-	-
Kakilang (Tm #04)									
46	Marvin Pang	M	3	2,205	12	183	-	2,205	183
47	Marcus Goh	M	17	1,795	12	149	66	1,861	155
48	Alex Choo	M	6	1,428	8	178	3	1,431	178
49	Johnny Hong	M	24	515	4	128	49	564	141
50	Jessica Ong	F	35	533	4	133	6	539	134
51	Alwin Woon	M	20	591	4	147	8	599	149
52	Adrian Tan	M	12	1,320	8	165	8	1,328	166
53	Fion Chua	F	16	1,328	8	166	-	1,328	166
54	Joelle Chong	F	-	-	-	-	-	-	-
55	Aaron Wan	M	15	596	4	149	41	637	159
56	Tay Koon Long	M	25	429	4	107	131	560	140
57	Kayan Tan	M	13	652	4	163	-	652	163
58			-	-	-	-	-	-	-
59			-	-	-	-	-	-	-
60			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (Men) and 130 (Ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

PLANET BOWL 29TH TRIOS LEAGUE - Bowler Records

After Week #6

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
Boneless Kitchen (Tm #05)									
61	Ho Yeen Kee	M	9	1,375	8	171	-	1,375	171
62	Nelson Chng	M	-	1,522	8	190	-	1,522	190
63	Helios Tan	M	-	767	4	191	-	767	191
64	Kenny Lee	M	19	589	4	147	16	605	151
65	Sunny Chia	M	2	2,236	12	186	-	2,236	186
66	Keith Tang	M	-	772	4	193	-	772	193
67	Johnny Soh	M	7	701	4	175	-	701	175
68	Sunny Wong	M	-	2,387	12	198	-	2,387	198
69	Benjamin Ang	M	-	1,587	8	198	-	1,587	198
70	Richard Choo	M	8	693	4	173	-	693	173
71	Ali	M	5	722	4	180	-	722	180
72			-	-	-	-	-	-	-
73			-	-	-	-	-	-	-
74			-	-	-	-	-	-	-
75			-	-	-	-	-	-	-
Simple (Tm #06)									
76	Richard Yee	M	16	629	4	157	-	629	157
77	Jessen Chia	M	5	2,157	12	179	-	2,157	179
78	Johnson Chia	M	3	2,916	16	182	16	2,932	183
79	Francis Liew	M	-	1,608	8	201	-	1,608	201
80	Faizal	M	-	2,268	12	189	-	2,268	189
81	Leong Fook Weng	M	13	1,294	8	161	14	1,308	163
82	Derek Lau	M	4	727	4	181	-	727	181
83	Jennifer Chan	F	-	-	-	-	-	-	-
84	Ridzwan	M	-	-	-	-	-	-	-
85	Hairon	M	-	1,854	8	231	-	1,854	231
86	Hamid	M	-	-	-	-	-	-	-
87			-	-	-	-	-	-	-
88			-	-	-	-	-	-	-
89			-	-	-	-	-	-	-
90			-	-	-	-	-	-	-
Viaggio (Tm #07)									
91	Elson Fong	M	2	1,484	8	185	-	1,484	185
92	Vivian Wai	F	8	2,124	12	177	-	2,124	177
93	Victor Teo	M	-	779	4	194	-	779	194
94	Tommy Lum	M	-	788	4	197	-	788	197
95	Roland Ng	M	7	700	4	175	-	700	175
96	Leonie NG	M	-	765	4	191	-	765	191
97	Jason Shin	M	-	2,418	12	201	-	2,418	201
98	Sebastian Ong	M	10	683	4	170	-	683	170
99	Tan Zhong He	M	8	694	4	173	-	694	173
100	Vince Wong	M	12	667	4	166	-	667	166
101	Larry Goh	M	-	810	4	202	-	810	202
102	Shaun Lim	M	11	673	4	168	-	673	168
103	Tim Teoh	M	4	729	4	182	-	729	182
104			-	-	-	-	-	-	-
105			-	-	-	-	-	-	-
Moulmein Big (Tm #08)									
106	Andy Lai	M	-	2,279	12	189	5	2,284	190
107	Bernard Pong	M	-	1,520	8	190	-	1,520	190
108	Neoh Yi Hui	M	-	899	4	224	-	899	224
109	Kevin Lai	M	8	675	4	168	19	694	173
110	Felix Tan	M	7	2,109	12	175	11	2,120	176
111	Teh Jiahao	M	12	660	4	165	-	660	165
112	James Chen	M	-	772	4	193	2	774	193
113	Andrew Lim	M	-	771	4	192	-	771	192
114	Viscent Teo	M	4	726	4	181	-	726	181
115	Dominic Kong	M	-	816	4	204	-	816	204
116	Lee Guohui	M	9	690	4	172	-	690	172
117	Zavier Lim	M	1	752	4	188	-	752	188
118	Jeffrey Lai	M	2	742	4	185	-	742	185
119			-	-	-	-	-	-	-
120			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (Men) and 130 (Ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

PLANET BOWL 29TH TRIOS LEAGUE - Bowler Records

After Week #6

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
Xpresso (Tm #09)									
121	Anwari	M	18	1,223	8	152	11	1,234	154
122	Ruby Ng	F	22	1,246	8	155	17	1,263	157
123	Henry Ng	M	9	2,730	16	170	32	2,762	172
124	Dennis Ong	M	14	1,914	12	159	24	1,938	161
125	Arsad	M	10	662	4	165	19	681	170
126	Gwee	M	15	631	4	157	7	638	159
127	Jeri Foo	M	21	590	4	147	4	594	148
128	Frankie Lai	M	22	578	4	144	4	582	145
129	Amy M Lim	F	33	551	4	137	9	560	140
130	Rick Tan	M	-	1,715	8	214	-	1,715	214
131			-	-	-	-	-	-	-
132			-	-	-	-	-	-	-
133			-	-	-	-	-	-	-
134			-	-	-	-	-	-	-
135			-	-	-	-	-	-	-
F O S (Tm #10)									
136	Yeo Wee Siong	M	6	2,130	12	177	-	2,130	177
137	Steven Ang	M	12	663	4	165	-	663	165
138	Roy Ang	M	-	1,522	8	190	5	1,527	190
139	Zhou Wencong	M	-	1,570	8	196	-	1,570	196
140	Nicholas Lee	M	-	2,347	12	195	-	2,347	195
141	Jae Tay	M	-	2,354	12	196	-	2,354	196
142	Andy Oh	M	3	1,470	8	183	-	1,470	183
143	Justin Tuck	M	7	705	4	176	-	705	176
144	Hayden Tan	M	10	676	4	169	7	683	170
145			-	-	-	-	-	-	-
146			-	-	-	-	-	-	-
147			-	-	-	-	-	-	-
148			-	-	-	-	-	-	-
149			-	-	-	-	-	-	-
150			-	-	-	-	-	-	-
Pins Points (Tm #11)									
151	Apple Ong	F	11	2,781	16	173	-	2,781	173
152	Lim Tony	M	1	2,250	12	187	-	2,250	187
153	Jimmy Lim	M	7	703	4	175	-	703	175
154	Eugene Sim	M	-	3,937	20	196	-	3,937	196
155	Ken Tan	M	-	774	4	193	-	774	193
156	Nelson Wong	M	-	1,719	8	214	-	1,719	214
157	Jonathan Guai	M	-	801	4	200	-	801	200
158	Patrick Chew	M	8	685	4	171	12	697	174
159	Andy Oh	M	-	-	-	-	-	-	-
160			-	-	-	-	-	-	-
161			-	-	-	-	-	-	-
162			-	-	-	-	-	-	-
163			-	-	-	-	-	-	-
164			-	-	-	-	-	-	-
165			-	-	-	-	-	-	-
Pinfinity (Tm #12)									
166	Dan Tay	M	-	1,530	8	191	-	1,530	191
167	Melvin Poon	M	18	602	4	150	12	614	153
168	Dino Wu	M	14	1,286	8	160	12	1,298	162
169	Daniel Ang	M	4	2,190	12	182	-	2,190	182
170	Nicholas Ong	M	-	805	4	201	-	805	201
171	Bernard Loo	M	14	648	4	162	-	648	162
172	Darren Teng	M	14	648	4	162	-	648	162
173	Darron Tan	M	19	1,192	8	149	27	1,219	152
174	Finn Wong	M	20	570	4	142	27	597	149
175	Toh Jing Bo	M	9	685	4	171	-	685	171
176	Jacob Tan	M	17	593	4	148	28	621	155
177	John Kiong	M	13	634	4	158	22	656	164
178	William Woo	M	-	-	-	-	-	-	-
179	Helen Neo	F	30	574	4	143	4	578	144
180			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (Men) and 130 (Ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

PLANET BOWL 29TH TRIOS LEAGUE - Bowler Records

After Week #6

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
eBowlers United (Tm #13)									
181	Jonathan Tee	M	6	2,124	12	177	-	2,124	177
182	Dyon Sim	M	-	1,593	8	199	-	1,593	199
183	Nicholas Chung	M	11	1,297	8	162	54	1,351	168
184	Roger Goh	M	3	1,466	8	183	-	1,466	183
185	Jyvan Neo	M	6	712	4	178	-	712	178
186	Charles Wong	M	-	2,273	12	189	-	2,273	189
187	Yvonne Lim	F	7	1,436	8	179	-	1,436	179
188	Desmomd Neoh	M	-	1,623	8	202	-	1,623	202
189	Xavier Chew	M	-	757	4	189	-	757	189
190			-	-	-	-	-	-	-
191			-	-	-	-	-	-	-
192			-	-	-	-	-	-	-
193			-	-	-	-	-	-	-
194			-	-	-	-	-	-	-
195			-	-	-	-	-	-	-
Revolution (Tm #14)									
196	Jackie Tay	M	2	1,490	8	186	-	1,490	186
197	Sebastian Lim	M	14	640	4	160	8	648	162
198	Amir	M	7	703	4	175	3	706	176
199	Morgan Lim	M	-	2,524	12	210	-	2,524	210
200	Victor Kan	M	2	744	4	186	-	744	186
201	Lee Wei Yang	M	6	709	4	177	-	709	177
202	Clare Ma	F	24	608	4	152	10	618	154
203	Joel Young	M	-	797	4	199	-	797	199
204	Matthew Chan	M	-	1,513	8	189	8	1,521	190
205	Ivan Lim	M	-	850	4	212	-	850	212
206	Daryl Ang	M	-	813	4	203	-	813	203
207	George Reyes III	M	-	873	4	218	-	873	218
208	Samuel Sim	M	-	1,668	8	208	-	1,668	208
209			-	-	-	-	-	-	-
210			-	-	-	-	-	-	-
ACC (Tm #15)									
211	Edwin Toh	M	6	707	4	176	1	708	177
212	Mohd Raihan Mohd Rasid	M	-	758	4	189	-	758	189
213	Jakob Fok	M	2	744	4	186	-	744	186
214	Manfred Kow	M	-	2,354	12	196	-	2,354	196
215	Neo Wen Xuan	M	11	673	4	168	2	675	168
216	Ken Tan	M	-	-	-	-	-	-	-
217	Jasper Ong	M	2	1,489	8	186	-	1,489	186
218	Cayden Toh	M	-	-	-	-	-	-	-
219	Callum Quek	M	4	1,458	8	182	-	1,458	182
220	Ayden Kam	M	6	1,419	8	177	6	1,425	178
221	Asher Kam	M	-	2,324	12	193	-	2,324	193
222	Timothy Ho	M	16	627	4	156	4	631	157
223	Yeo Qi En	M	-	-	-	-	-	-	-
224	Joshua Lim	M	12	660	4	165	-	660	165
225			-	-	-	-	-	-	-
SteadFast (Tm #16)									
226	Dickson Lee	M	23	1,101	8	137	48	1,149	143
227	Ronald Lee	M	9	2,751	16	171	2	2,753	172
228	Albert Koong	M	7	2,822	16	176	1	2,823	176
229	Ricky Png	M	15	1,906	12	158	13	1,919	159
230	Yap Peng Wah	M	19	1,203	8	150	11	1,214	151
231	Michael Yuen	M	20	1,153	8	144	48	1,201	150
232	Peter Loh	M	13	659	4	164	-	659	164
233			-	-	-	-	-	-	-
234			-	-	-	-	-	-	-
235			-	-	-	-	-	-	-
236			-	-	-	-	-	-	-
237			-	-	-	-	-	-	-
238			-	-	-	-	-	-	-
239			-	-	-	-	-	-	-
240			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (Men) and 130 (Ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

PLANET BOWL 29TH TRIOS LEAGUE - Bowler Records

After Week #6

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
Alliance (Tm #17)									
241	Thomas Lee	M	-	3,929	20	196	-	3,929	196
242	Jo Hoon	M	-	2,376	12	198	-	2,376	198
243	Ngan Chia Chia	F	11	2,768	16	173	-	2,768	173
244	Victor Yim	M	-	-	-	-	-	-	-
245	Kelly Chua	F	5	1,456	8	182	-	1,456	182
246	Patrick Wong	M	7	696	4	174	6	702	175
247	Melvin Tan	M	-	2,329	12	194	-	2,329	194
248	Goh Peck Khim	F	-	-	-	-	-	-	-
249			-	-	-	-	-	-	-
250			-	-	-	-	-	-	-
251			-	-	-	-	-	-	-
252			-	-	-	-	-	-	-
253			-	-	-	-	-	-	-
254			-	-	-	-	-	-	-
255			-	-	-	-	-	-	-
8 + 1 (Tm #18)									
256	Ray Wong	M	-	2,327	12	193	-	2,327	193
257	Louis Ngiam	M	5	2,166	12	180	-	2,166	180
258	Mahmud	M	1	749	4	187	-	749	187
259	Roy Choo	M	-	2,289	12	190	-	2,289	190
260	Steven Ang	M	12	1,335	8	166	-	1,335	166
261	Peter Lim	M	-	757	4	189	-	757	189
262	Richard Kong	M	8	1,389	8	173	9	1,398	174
263	Sebastian Ang	M	2	742	4	185	-	742	185
264	Leonard Goh	M	3	735	4	183	-	735	183
265	Kevin Lim	M	13	648	4	162	6	654	163
266			-	-	-	-	-	-	-
267			-	-	-	-	-	-	-
268			-	-	-	-	-	-	-
269			-	-	-	-	-	-	-
270			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (Men) and 130 (Ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

PLANET BOWL 29TH TRIOS LEAGUE

Week: 06 /34

24-Feb-26

LID	Name	Hcp	Game 1	Game 2	Game 3	Game 4	Series	G1 whcp	G2 whcp	G3 whcp	G4 whcp	Tot-Hcp	Pts-won	Total Pts
3	Simple (Tm #06)													
3.1	Jessen Chia	5	159	157	196	213	725	164 0	162 1	201 1	218 1	745 1	4	16
3.2	Faizal	0	190	166	142	197	695	190 1	166 1	142 0	197 0	695 0	2	
3.3	Hairon	0	220	238	287	236	981	220 1	238 1	287 1	236 1	981 1	5	
	Team#6 score	5	569	561	625	646	2401	574 1	566 1	630 1	651 1	2421 1	5	
4	SteadFast (Tm #16)													
4.1	Ricky Png	14	162	134	157	162	615	176 1	148 0	171 0	176 0	671 0	1	4
4.2	Albert Koong	8	177	157	197	195	726	185 0	165 0	205 1	203 1	758 1	3	
4.3	Ronald Lee	8	174	163	178	138	653	182 0	171 0	186 0	146 0	685 0	0	
	Team#16 score	30	513	454	532	495	1994	543 0	484 0	562 0	525 0	2114 0	0	
5	X-Kakis (Tm #01)													
5.1	Alvin Teo (NB)	0	190	179	213	186	768	190 0	179 1	213 1	186 1	768 1	4	15
5.2	Alvin Chia	0	187	226	170	210	793	187 1	226 0	170 1	210 1	793 0	3	
5.3	Danny Yeo	0	244	167	209	193	813	244 1	167 0	209 1	193 1	813 1	4	
	Team#1 score	0	621	572	592	589	2374	621 1	572 0	592 1	589 1	2374 1	4	
6	Alliance (Tm #17)													
6.1	Ngan Chia Chia	10	208	159	148	154	669	218 1	169 0	158 0	164 0	709 0	1	5
6.2	Jo Hoon	0	181	256	168	207	806	181 0	256 1	168 0	201 0	806 1	2	
6.3	Thomas Lee	0	196	201	196	192	785	196 0	201 1	196 0	192 0	785 0	1	
	Team#17 score	10	585	616	512	547	2260	595 0	626 1	522 0	557 0	2300 0	1	
7	Kakilang (Tm #04)													
7.1	Kayan Tan (NB)	13	159	160	180	153	652	172 0	173 0	193 1	166 0	704 0	1	6
7.2	Fion Chua	24	191	145	189	184	709	215 0	169 0	213 0	208 0	805 0	0	
7.3	Adrian Tan	19	166	158	196	199	719	185 1	177 0	215 1	218 1	795 1	4	
	Team#4 score	56	516	463	565	536	2080	572 0	519 0	621 1	592 0	2304 0	1	
8	Revolution (Tm #14)													
8.1	Samuel Sim	0	235	221	176	213	845	235 1	221 1	176 0	213 1	845 1	4	14
8.2	Morgan Lim	0	246	174	214	236	870	246 1	174 1	214 1	236 1	870 1	5	
8.3	Matthew Chan	0	132	179	196	174	681	132 0	179 1	196 0	174 0	681 0	1	
	Team#14 score	0	613	574	586	623	2396	613 1	574 1	586 0	623 1	2396 1	4	
9	F O S (Tm #10)													
9.1	Hayden Tan (NB)	10	172	181	190	133	676	182 0	191 1	200 1	143 0	716 0	2	15
9.2	Andy Oh	7	169	236	160	202	767	176 1	243 1	167 0	209 1	795 1	4	
9.3	Jae Tay	0	217	185	241	176	819	217 1	185 0	241 1	176 1	819 1	4	
	Team#10 score	17	558	602	591	511	2262	575 1	619 1	608 1	528 1	2330 1	5	
10	8 + 1 (Tm #18)													
10.1	Steven Ang	14	179	169	184	158	690	193 1	183 0	198 0	172 1	746 1	3	5
10.2	Ray Wong	0	170	203	234	184	791	170 0	203 0	234 1	184 0	791 0	1	
10.3	Roy Choo	0	186	214	159	160	719	186 0	214 1	159 0	160 0	719 0	1	
	Team#18 score	14	535	586	577	502	2200	549 0	600 0	591 0	516 0	2256 0	0	
11	Pinfinity (Tm #12)													
11.1	Bernard Loo (NB)	14	168	143	166	171	648	182 0	157 0	180 0	185 0	704 0	0	2
11.2	Darron Tan	20	150	132	157	169	608	170 0	152 0	177 0	189 0	688 0	0	
11.3	Daniel Ang	6	171	246	172	171	760	177 0	252 1	178 0	177 0	784 0	1	
	Team#12 score	40	489	521	495	511	2016	529 0	561 1	535 0	551 0	2176 0	1	
12	eBowlers United (Tm #13)													
12.1	Yvonne Lim	17	234	182	180	183	779	251 1	199 1	197 1	200 1	847 1	5	18
12.2	Charles Wong	0	184	172	184	190	730	184 1	172 1	184 1	190 1	730 1	5	
12.3	Desmond Neoh	0	247	183	206	211	847	247 1	183 0	206 1	211 1	847 1	4	
	Team#13 score	17	665	537	570	584	2356	682 1	554 0	587 1	601 1	2424 1	4	
13	Moulmein Big (Tm #08)													
13.1	Felix Tan	6	129	181	199	184	693	135 0	187 1	205 0	190 1	717 0	2	8.5
13.2	Andy Lai	1	181	192	210	205	788	182 0	193 0	211 1	206 1	792 1	3	
13.3	Bernard Pong	0	188	171	214	171	744	188 0	171 1	214 1	171 0	744 0	2	
	Team#8 score	7	498	544	623	560	2225	505 0	551 1	630 1	567 0	2253 0	1.5	
14	ACC (Tm #15)													
14.1	Ayden Kam	8	195	156	200	175	726	203 1	164 0	208 1	183 0	758 1	3	11.5
14.2	Callum Quek	6	212	212	158	162	744	218 1	218 1	164 0	168 0	768 0	2	
14.3	Asher Kam	0	201	169	167	233	770	201 1	169 0	167 0	233 1	770 1	3	
	Team#15 score	14	608	537	525	570	2240	622 1	551 1	539 0	584 1	2296 1	3.5	
15	Xpresso (Tm #09)													
15.1	Dennis Ong	14	203	157	130	146	636	217 1	171 0	144 0	160 0	692 0	1	10
15.2	Henry Ng	9	171	194	159	171	695	180 1	203 0	168 0	180 0	731 0	1	
15.3	Rick Tan	0	255	245	222	218	940	255 1	245 1	222 1	218 1	940 1	5	
	Team#9 score	23	629	596	511	535	2271	652 1	619 1	534 0	558 0	2363 1	3	
16	Boneless Kitchen (Tm #05)													
16.1	Ali (NB)	5	181	184	148	209	722	186 0	189 1	153 1	214 1	742 1	4	10
16.2	Nelson Chng	6	150	230	254	177	811	156 0	236 1	260 1	183 1	835 1	4	
16.3	Sunny Wong	0	160	170	170	181	681	160 0	170 0	170 0	181 0	681 0	0	
	Team#5 score	11	491	584	572	567	2214	502 0	595 0	583 1	578 1	2258 0	2	
17	Pins Points (Tm #11)													
17.1	Apple Ong	8	158	194	145	147	644	166 1	202 1	153 1	155 1	676 1	5	18
17.2	Lim Tony	5	203	189	181	245	818	208 1	194 1	186 1	250 1	838 1	5	
17.3	Eugene Sim	0	169	226	182	179	756	169 1	226 1	182 1	179 0	756 1	4	
	Team#11 score	13	530	609	508	571	2218	543 1	622 1	521 1	584 0	2270 1	4	
18	Smokey Wizard (Tm #02)													
18.1		0	0	0	0	0	0	130 0	130 0	130 0	130 0	520 0	0	2
18.2	Anthony Li	10	163	151	143	224	681	173 0	161 0	153 0	234 0	721 0	0	
18.3	Reyhem M Razali	3	160	171	177	219	727	163 0	174 0	180 0	222 1	739 0	1	
	Team#2 score	13	323	322	320	443	1408	466 0	465 0	463 0	586 1	1980 0	1	
19	XPiNX (Tm #03)													
19.1	Nicholas Khoo (NB)	9	179	163	152	193	687	188 1	172 0	161 0	202 0	723 0	1	9.5
19.2	Kwek Yao Chie	7	170	171	167	204	712	177 1	178 1	174 0	211 1	740 1	3.5	
19.3	Leong Ai-Wen Victoria	1	199	198	133	162	692	200 1	199 1	134 0	163 0	696 0	2	
	Team#3 score	17	548	532	452	559	2091	565 1	549 1	469 0	576 1	2159 0	3	
20	Viaggio (Tm #07)													
20.1	Larry Goh (NB)	0	186	200	209	215	810	186 0	200 1	209 1	215 1	810 1	4	10.5
20.2	Vince Wong (NB)	12	156	166	191	154	667	168 0	178 1	203 1	166 0	715 0	1.5	
20.3	Shaun Lim (NB)	11	154	159	201	159	673	165 0	170 0	212 1	170 1	717 1	3	
	Team#7 score	23	496											